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Note : English version of the instructions is printed on the back cover of this Booklet.
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afg TR A= [-:: 1_1]‘5131’1::\[—_1 2,
& Freferfias 3 & SH-A1 T 9 R ?
Afifda 2

A frmgfifda 2

(A)T + A Efifda @

(E)T + A Rrmefida @

(a)
(b)
(c)
(d)

[12_4;]1°esﬁqamﬁ « o g P

X
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(a) 180
(b)
(e)

(d)

120
90

72
&
S\

a* ®
(1+2x-xD%=a + a2xz+ X 2,
Gl ao—a1+a2§§a4—...+amﬁ?ﬂa5'ﬂm
2?

(a)
(b)

32
64
(c) 2048

(d) 4096

afe (20, n + 2) = C20, n — 2) ¥, A n forEss
T R ?

(a)
(b)
(c)
(@

18
25
10
12

7.

(2-A)

: 0 k 4
k%ﬁmﬁuﬁ%m,m[-k 0 -ﬂ
Yoi T N
S R ?
(a) hadl Th
b) Fa@A
(¢) %Had |R

(d &4

FE (1101101 +1011011), P Gwwea gfd #

fapm e fordn S g & 2
@ (A98),
th) \, (199),,
@ (200,
@ (201)

1
1 4 0+ L log. 3125 1 HH
0 log; 1024 — log; 10 + 5 108

TR ?
(a O
b 1
) 2
d 3

a2 x = log, (ab), y = log, (bo), z = logy, (ca) 2,

& Frferfiga § & F=-91 @€ R ?
(a) xyz=1
b) x+y+z=1

© A+ t+@Q+yt+Q+ =1

@ Q+02+Q+y2+0+ z2y2=1
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1. IfmatrixA:[ i J where;'!:\f—l,s'

-i  1-i
then which one of the following is correct ?
(a)  Ais hermitian

(b) A is skew-hermitian

(€  (A)T + A is hermitian

(d  (A)T+ A is skew-hermitian

2. The term independent of x in the binomial 6

10
expansion of (—25 —Jx ) is equal to

X
(a) 180
(b) 120
() 90
d 72

3. If (1+2x—x2)3=an+alx+a@...+amxm. 7.
then what is a, - a, + az—\®-+ a, —~&. Ra,

equal to ? QS
(a) 32 ®$
(b) 64
(¢) 2048
(d) 4096
4. If C(20,n +2) = C(20, n - 2), then what is n u
equal to ?
(a) 18
(b) 25
(e} 10
d 12
KJU-S-TMS (3-A)
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For how many values of k, is the matrix
) S B

-k 0 -5| singular?
~k k -1 '

(a) Only one
(b)  Only two
() Only four
(d) Infinite

The number (1101101 + 1011011)2 can be
written in decimal system as

(a) (198),4
(b) \(199),,
@, 200),,

d (201,

What is the va_lue of
1 1
%o log; 1024 — log; 10 + 5 log, _3125 ?

(a) 0
(b) 1
{c) 2
d 3

If x= log_ (ab), y = log, (be), z = logy, (ca),
then which of the following is correct ?

(a) =xyz=1
(b) x+y+z=1

@ A+ l+Q+pliaszlag

@ A+ 2+Q+y92+0Q+202=1
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X+y y 2 a h g X
o mﬁi”s'“‘“{h x_y]'E‘:[_l]"mm aAdRTA=|h b f| MM B=|y| & @
3 g f ¢ z
C=[2}3lﬂﬁAB=C'€LEﬁ:ﬂW{§'A% AB fras st 2 2 '
TR &1 WE R 2 "'ax+hy+gz-|
(a) -10 @) 3
b)) -14
18 z
) -24
@ -34 [ax + hy + gz
5 (b) hx + by +42
10. ﬂﬁl—asxs4-5t,a’rﬁnﬁ~wftaaﬂﬁaﬂ=r-m
T HE R ? : : L X
(@ (2x-3)(2x-9)>0 [ax by + gz
b)) @2x-3)(2x-9)<0 ' (e) hx +by +fz
@ (2x-3)(2x-920 | gx +fy +cz |
d @2x-3)2x-9<0 ® (d) [ax+hy+gz hx+by+fz gx + fy + cz]

Q
11. mﬁf&qs:u,z,s,...}g& S x S Tk
¥ R, ﬂyﬁ“ﬂ“ﬁg@zﬂﬁlozﬂxﬂozay 14, W= ABLE ¥ W@ #1 ogafewd W F W

S S it et 1 e w2, R W W W
x F@ﬂ@ e B ? :
(a) Had
(b) Haw gafE (a) 2
(¢) - HaE HHHD b) 4
(@ wufta 3R g g G
¢ " @ 8
12. ®mfr | it i # | wwti= -1 % _
o g2 15. ufa (5) sAREETd g & whresg R #
' Fferehan EET 18 ?
HIAAFNE ?
(a) 0 (a} 10
b -2 ®) 15
(c) 4i (e) 20
d -4 @@ 25
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P e (i 0 T R #ibty L
N R R L R 13. LetA=|h b f|andB = |y, then what is
3 g 5 e z
C={2}IfAB=C.thenwhatlsthevalueof AB equal to ?
the determinant of the matrixA? ’_ax +hy + gz"
-1
k) g (a) y
(b) * —-14
| z J
(@ =94
@ —34 ‘ ra:ac-rhy+gar."[

. (b) hx + by + fz
¥ 15<x € 45, then which one of the

following is correct ? L - J
(@ (2x-3)(2x-9)>0 |'ax+hy+g21
(b) (2x-3)(2x-9)<0 (c) hx +by + £z
© (2x-3)(2x-9)30 | g+ £y + oz |
@ (2x-3)@2x-9)<0 (d), [ax+hy+gz hx + by + fz gx + fy + cz]

Let $ = 1, 2,3, ..). A relation R onc§ § js

defined by xRy if 1 1 -
e Y XLy i log, x > “gag 14. What is the number of ways in which the

Then the relation is \Q(b' letters of the word ‘ABLE’ can be arr e
(a) reflexive only @Q that the vowels occupy even places ?
(b)  symmetric only (a) 2
(c) transitive only (b) 4
(d)  both symmetric and transitive © 6
d 8

What is the value of the determinant

L i? i3

4 i% i8 where { = J——I ? 15. What is the maximum number of points of
;9 j2 ;15 intersection of 5 non-overlapping circles ?
10
@ o0 o
b) -2 (b) 15
(€ 4i ) (€ 20
d -4 d) 25
KJU-S-TMS (5-A)
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sy} i (08) TV & forg AT
ﬁnf‘aﬁaﬂaqaﬁ@mﬁwaﬁrﬁq,aﬁxYa&mz

& = 2

| g &fse e 7.8 sagdl ) T& H

n(Z)ﬁﬁﬁqmm%Gﬁﬁﬁ%%w% 1

16. af Y3 73 sraaat 6 G 4: 5% IFIE H

2, A pw A FR?

(a) 18
(b) 19
(e 21
(d) 23 ®
ng
17. n(X) +n(Y) +n(2) - nX QB >n¥Y Q 27 -
N 2z) +aX Y N Z)
=1 H 18 ? %Q\
I}
(a) a+b+4
(b) a+b+63
(¢ a+b+986
(d) a+b+106
18. uﬁ@masﬁwﬁxﬁ%,mrﬁ%,aﬂtq
&z & gEm pd, A XF T F I
&1 wET TR ?
(a) p+b+60
(b) p+b+40
(c) p+a+60
(d p+a+40
KJU-S-TMS

syt 3 (02) AT & forg g :
ﬁnﬁﬁﬁaﬁwﬁaﬁq@(’eﬁ?m#yﬁ%m
Ffre :

19.

20l

(6-A)

tan 3A
tan A

T ehfsre & =K,TﬂﬁftanA=t(]3ﬁi

1
2R
Kaes%

tan? A foFas TR 2 7

K+3
3K-1

(a)

(b)

(e)

(d)
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Directions for the following three (03) items :

Consider the following Venn diagram, where XN

and Z are three sets. Let the number of elements in
Z be denoted by n(Z) which is equal to 90.

16.

17.

(a) a+b+43
(b) a+b+63
() a+b+96
(d a+b+106
18. If the number of elements belonging to neither
X, nor Y, nor Z is equal to p, then what is the
number of elements in the complement of X ?
(a) p+b+60
(b) p+b+40
(¢ p+a+60
(d p+a+40
KJU-S-TMS (7~

(70
S,

Z

If the number of elements in' Y and Z are in
the ratio 4 : 5, then what is the value of b ?

(a) 18
(b) 19
) 21
(d) 23

Q
Q
g\\

What is the value of %2,
nX) + n(Y) + n(Z) - n(X N n(YNZ -
n(X +nXTHY'n Z) ?

$

Directions for the following two (02) items :

Read the following information and answer the two
items that follow :

Let

19.

20.

A)

tan 3A
tan A

=K, where tan A # 0 and K = %

What is tan® A equal to ?

K+38

(a) 3K —1

(b)

(e)

K+3

@ K +1

For real values of tan A, K cannot lie
between

2

(a) 3 and 3
(b) 2 and 2
2
(e) -;— and 5
(d) l and 7
7
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st 31 (02) T % ferg A5

frefrfa SRt # 96T
Fifre

21.

22.

23'

KJU-S-TMS

ABCD us wea (P w@ ven @ 5 AB
aﬂtcnmiaﬂtncmméa% | W
SUELRED / ADB = 6, 2 ABD = o, BC = p 3R
CD=q? |

ﬁﬁﬁ’lﬁiﬁmmm
1. AD sin 6 = AB sin a

2. BDsin0=ABsin (0 +a)
:ﬂﬁ?ﬁﬁ%aﬁw-w@iw%/%'?
(a) Had 1

(b) e 2

© 13 2gH

@ d@|LARN2

AB free st R ?

$
N
7

(p2 - q2) cos 0 \Q(b'

___’_—Q
pcosO+qs

(p? + q?)sin 0

(a) :
pcosO+qsinf

(b)

(p2 - qz) sin 0

(c) ]
qcos O+ psinb

(pz—qz) ¢os 6
qcos®+psind

(d)

cos17° —sinl7’

cos 17 +sin17°

4fg tan

R

9= 2, @ o WH

(a) ©O°

(b) 28°
() 38°

(d) b52°

3 3T 7 FHH F IH

24.

25.

217.

(8-A)

A 3t B s pmw W e ® e
cus2B=3Bin3A3ﬁ(3sin2A=ZBin2Btl
(A + 2B) 1 7F &1 8 ?

o
(a) E
b x
(b) %

n
(C) 5‘
d L
(d) 2
gin 8x +0083x*+ 4 sin® x— 3 sin x +

3 cos x — 4 cos® x

fpas s R ?
w 0
by 11
(¢) 2sin2x
(d) 4cos4x
y=2+cosx%ma‘iﬂﬁlﬂﬂ (ﬂﬁﬁ)ﬂm

frg Faua A @ R 2

(@ 0,1
(b) [0,3]
© L1
@ (1,3

8 cos 10° . cos 20° . cos 40° FAAFTR?

(a) tan10°
(b) cot 10°
(¢) cosec 10°
(d) sec10°
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Directions for the following two (02) items : 24. A and B are positive acute angles such that

Read the following information and answer the two cos 2B = 3 sin? A and 3 sin 2A = 2 sin 2B.
items that follow : What is the value of (A + 2B) ?
ABCD is a trapezium such that AB and CD are ( -
parallel and BC is perpendicular to them. Let " s
AADB=9,£ABD=::,BC=pandCD=q.
® =
21.  Consider the following : 4
1. ADsin6=ABsina , W X
. 3
& BD sin 6 = AB sin (0 + o)
Which of the above is/are correct ? (d) %
(a) 1only
25. Whatis
2
) Koy sin 3x + cos 3% 4 4 sin® x — 3 sin x +
(c) Both 1and?2 3 cos x — 4 cos® x
(d) Neither 1 nor 2 equal to ?
22. What is AB equal to ? QY
b) 1
@® (p? +q?)sin 0 \Q®
pcosB+qgsinB g\ (¢) 2sin2x
& b
(b) (®* - q?) cos 6 Q(b’ s

0 in@
pcost +qsin QQ 26. The value of ordinate of the graph of

s (p2+q2)sin9 ¥ =2+ cos x lies in the interval

qcosO+psin @ [0,1]
@ (% — q?) cos 6 (b) [0, 3]
qcosO+psing (e [-1,1]
I “_sinlT @ [,3]
28. Iftan @ = °°8 17° —s8in 17 T ST
cos17° +8in17°
value of 6 ? 27. What is the value of
; 8 cos 10°, cos 20°. cos 40° ?
8 'ige
(a) tan10°
(b) 28°
(b) cot 10°
(e) . 88°
(¢) cosec 10°
@ - 52°
(d) sec10°
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& ferg 39 :
98. cos 48° — cos 12° 1 FH F1 & ? Tt @ (03) FEAT & ferg

J5 -1 ﬁmﬂ%ﬂmﬂﬁ#vfé’qaﬂrm#'yﬁ%
(a) 2 o e
e -1___4‘!_5 m:::l?:iwsgx=c;hsin2y+acoazy=d
(© ‘E;l : it ptanx=qtany 2 |
31. tan®x PG e R ?
@ l—an ' le:
99, Prafufia Fedi T fem Hifvw - i

L af ABC @ awEw Byw R, S AW iy (B

c~b

R
maﬁw%aﬂtaﬁs:nn_3%,'ﬂ‘t \
cosecC=32 | (c) o

ABC @ fiye & R, 9 ABC A w, =2

c—a
@ e g e RS
ks el 3 AT A ? ;2. 122 fecwomt?
(a) Had 1 &fb = &
(b) Had 2 ®$ (@) aindy
() 137 2‘$Fﬁ (b) cos® vy
@ T@LIA2 !
E z
30. Prafufiga wu o faar HIFT (@ eot?y
1. uﬁf&%ﬁﬁgﬁ{mcﬁ,AﬂBaﬂ(bu p? X
21, 7t 78w i s g 33. 4 Foperh e
2. W#W@Cqﬁ%ﬁﬁﬁﬁu=4ﬁ°, @) (b__:,l))((b_i;
- a-—
B 65° 3l 2 = sin 40° cosec 15°F | ((& o
$ ; F: B c—a
mgmmﬁﬁﬂm-m@aa%f%? ®  B-o@-b
& 1 (d—a)(c—a)
::; Fad 2 ©  B-9o@d-»
(b-c)(b-d)
- 1::(2&';2 i (c—a)a-d)
(@ @17

~A
KJU-S-TMS (10-A)
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28. What is the value of cos 48° — cos 12 2 Directions for the following three (03) items :

JE Read the following information and answer the
(a) 54_ 1 three items that follow :
i Let asm2x+bcos2x=c;bsin2y+amszy=d
(b) 1-45 and ptanx=qtany.
JB+1 81. Whatis tan®x equal to ?
(c)
2 i
@ < ":
@ 1=
8 2
(b) : ]‘;'
29. Consider the following statements :
1. If ABC is a right-angled triangle, © E‘“_:
_ s
right-angled at A and if sin B = % , then
cosec C = 3, (d) : A :
2. IfbcosB:ccosCandifthet.riangle
ABC is not right-angled, then ABC must d—a
be isosceles. ® 32, What is b—d equal to ?
Which of the above statements isfé@%on‘ect ?
(a) sin?y
(a) 1only &
(b) 2only \Q‘b‘ (b) cos?y
(¢) Both1and?2 QQ 2
3 Q (¢) tan“y
(d) Neither 1 nor 2 §
(d) cot?y

30. Consider the following statements :

2
1. If in a triangle ABC;)A = 2B and b = ¢, |33. What is 2 equal to ?
then it must be an obtuse-angled triangle. q

2. There exists no triangle ABC with A = 40°, @) (b—c)(b-d)

B =65°and 2 = sin 40° cosec 15°, @a-dja-c

[

: £ b s o b) (a-d)(c—a)
Which of the above statements is/are correct ? ®—-c)(d-b
(a) 1only

© (d-a)(c—a)
(b) 2only , (b-ec)(d-Db)
(c) Both1land2 @ (b-e)(b-4d)
(d) Neither 1 nor 2 c-a)a-d)

KJU-S-TMS (11-A)
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sy @i (03) T & forg g syt i (03) MY @& forg 389 :
WW#WWW#M%WW#W&W#M%

-g=15°% |
Wﬁﬂﬁlﬂ,ﬁ?tn=sinn9+cosnﬁil T e 6 a=p
37. sin o+ cos p 1 HH F 8 ?
g4, 13- fopmd e R ?
b e
2
(a) h
x By ke
2.2
t3
b s,
: i (c) -Ji
. 22
) 5
(e - R _\@
t J2
(d) t—l
3 38. sin Ta — cos 7 1 W F1 8 ?
\\Q® (@ —J%
35. t12-t2mm‘3?(z§é :
(a) cos20 Q\Q (b) ETQ
(b) sin 260 %Q 2 _Jg_
(¢) 2cos0 -
(d 2sin® 5
(d) =
36. tmmmw%,aﬁe=45=%? 89. sin (o + 1°) +cos (B + 1°) foras ST R ?
i (a) J3 cos 1° + sin 1°
o : (b) Jécos 1°—lsin1°
$ 2
i . (c) —I-(Jﬁcos 1° — gin 1°)
16 % .
4 _1_ (d) L (-chos 1° 4 sin 1°)
32 :
KJU-S-TMS (12-A)
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Directions for the following three (03) items : Directions for the following three (03) items :

Read the following information and answer the |Read the following information and answer the
three items that follow : three items that follow

Let t =sin™ 0 + cos® 0. Leta=p = 15°

37. What is the value of sina+cosf ?
34. What is tg —t5 equal to ?

t5 — t7 - (a) 7]_5‘.
(a) :—1 .
" b =
242
t
) . =%
t5 (c) _ﬁ_
242
ts
v2
(d) %L
i 88.. What is the value of sin 7a — cos 3B ?
Q® . (a) %
35. Whatis t12—— ts equal to ? §S\\ 2
( 20 ‘§, PN
a) cos $Q\Q o
(b) sin 20 8
S @ 0B
(e) 2cos 0 2J§
2sin 0
(d) sin o %
- W S of t)o where 6 = 45° 7 39. Whatis sin (a + 1°) + cos (B + 1°). equal to ?
@ 1 (@ V3 cos1°+sin 1°
2 1
() 4 (b) V3 cos1°- : sin 1°
. 1
e © = (/B cos 1°—sin 1)
@ i
32 @) 5 (/3 cos 1° + sin 1°)
KJU-S-TMS (13-A)
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40. df2 sin x + sin y = cos y — cos X &, &

41.

KJU-S-TMS

2

' bqqq%i,a’rm[“"lﬁm%m

22

(a) 0O

1
b
(b) 3

(e) - 2

d 2

af A, 3 x 5P (3ATEX) 1 TH AYE & I
B,sxaaﬂﬁmwwt,a’rmaﬂtm
1 Fifeat sowm: T ghl 2
(@) 3x3 A 3x3
®) 8x5 I 5x3 \\Q&Q
(¢ 3x3 AN 5x5 §Q§
Y 5xaaﬂt3x5\@"
$Q
N
ﬂﬁpz,q23ﬂ!r2(ﬁ'8’fp,q,_r>0'g)‘{;ﬂﬁm%
Gp) & &, @ fefofea® & sSRwA wd
2 7 |
1. p,q3M i 3 GP)YH # |
9. iInp,inq3W inrEdiE 3 AP)H E |
2 fu T e w1 T HOEE I I
(a) Had 1
(b) e 2
(© 13 23H
@ A@1,T7E2

(14-A)

43. Af2 cot o 3N cot p THIHTT 2-3x+2=0%

{ai,%ﬁm(mp)ﬁa&?m%?

1
(a) E

1

b £
(b) 3
() -2

@ 3

> uﬁtpﬁiﬁfamammﬁwéﬁéﬁ!ﬁ

a+ﬂ=u2+ﬂﬂaﬂtaﬁ=a232a%ﬂgemﬁi |
& foara el 6 dEm TR 2

@ 0

b)) 2

© 3

d 4

. af = l’i’ﬁ,tﬁ’f i d=1 % W

1+£J§
0T 4T 2 ?

(a) 240°
(b) - 210°
(e) 120°

(d 60°
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40. If 8in x + sin y = cos y — cos x, where
O<y<xc< g—.menwhatistan (x;y} equal
to ?

(a o0
1
(b) 2
(¢} 1
td)- -2

41. If A is a matrix of order 3 x5 and B is a
matrix of order 5 x 3, then the order of AB and
BA will respectively be
(@ 8x3and 3x3

- () 3x5 and 5x3 QQQ
' 8
() 3x3 and 5x5 @
NG
(d 5x3 and 3x5 Q\
| N
42. If p2,qzandr2(wherep,q,r>O)areinGP,
then which of the following is/are correct ?
1.  p,qandrarein GP,
2. Inp,ln qand in r are in AP,
Select the correct answer using the code given
below :
(a) 1lonly
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
KJU-S-TMS

43. If cot o and cot B are the roots of the equation

45.

(15-A)

x2—3x+2=0,thenwhatiscot(a+ﬁ)equal
to ?

1
(a) "2-

1
(b) 3
) 2
@ 3

The roots'e and B of a quadratic equation,
satisfy'the relations o + B = o? + g% and
of'= 62p%. What is the number of such

quadratic equations ?

(a) 0
b)) 2
c 3
d 4

What is the argument of the complex number
y QU

1_'_‘_".g,where:& J=17
(a) 240°

(b) . - 210°

() - 120°

(d 60°
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46. ot dem S80S0 o 1R, W

47.

KJU-S-TMS

cosf—isin®
T AT R 2

(a) =
@& A

3
(c) E

@ 2

{1,2,3,41%3%33@3?&?«1‘&31{%&1
37 Sfra syegeEl #§ @ fRed WY (3)
Ffteg=a & ?

(a) b5
(b) 6
&
ey T %
>
(d 8
S

P q
Epas b @™ P . 3 @ feafafes & @
r P 4
FH-E1 T TE R 2
(a) D<O
(b) D=0
¢ D=>0
d D=0

(16—-A)

49, W9 (1 + x° F x H IR (v g¥) @i A

o frar o & @ w@ wam & ifw dfe
TRl T FrTet TR 2

(a) 256

(b) 512

(¢) 1024

d) 2048

. I 3 9@ T Ao e % wed

ﬁﬁ%ﬂq{ﬁﬁﬂwz

1. AladjA) =(adjA) A

2. |adjA=JA|

s S A A WE-EA TE AR 2
(a) \ ad 1

(b) A 2

¢ 13 23H

(@ FA1,Td2

51. 99 (x — 2a) (x — 2b) + (y — 2¢) (y — 2d) = O 1

Fg BATR ?
(a) (2a,2c)

(b) -(2b, 2d)

(¢) (a+b,c+d)
(d (a=b,e—-d)

. fag (1, 1) forelt ot 1 o o 2 | of &

us feol w1 THEO 3x + 2y = 5 B, @ W
ferepol a1 EefteRTor T R ?

(a) 8x-2y=5
b) 2x-3y=1
(© 2x-3y=56

d 2x+3y=-1
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46. What is the modulus of the complex number |49. What is the sum of the last five coefficients in

cos 0 -H"sine PELRE the expansion of (1 + x)° when it is expanded
cos B —isin 6 in ascending powers of x ?

: (a) 256
W .2 ®) 512
L (e) 1024

(d 2048

4 .

() 2 50. Consider the following” in respect of a

non-singular matrix of order 3 : :
@ 2 1. A(adjA) = (allj A)A
2. ladjA| = JA)

47.  Consider the proper subsets of {1, 2, 3, 4}. How Which of the‘above statements is/are correct ?
many of these proper subsets are superset of :
1
the set (3} ? @ AW
(b). “.2'only
(a) 5
() Both1and2
®) 6 @ (d)  Neither 1 nor 2
§<\
te): 7 : &Z, 51. The center of the circle :
NG (x - 2a) (x ~ 2b) + (y — 2¢) (y - 2d) = 0 is
@ 8 Q
@ (@) (2a, 2)
(b) (2b, 2d)

48. Letp,qandrbethreedistinctpositivereal
N Y () (a+b,c+d)

numbers. If D = q r Pl, then which (d) (a—b,c -d)

2 SRl 52. The point (1, 1) is one of the vertices of a

one of the following is eorrect ? square. If 3x + 2y = 5 is the equation of one
diagonal of the square, then what is the

(@ D<0 equation of the other diagonal ?
(a) 3x-2y=5

(b) D<o0O
(b) 2x-3y=1

Gl S © 2x-3y=5

(d D20 @ 2x+3y=-1

KJU-S-TMS (17-A)
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53. wm ohfm fF  Pxy fRR dEE|57. 7w whfsre f5 ABC @ fuw ® 1 3R D@, 5
25x2 + 16y% = 400 W 1§ fig # 1 7M1 QO, 3 SN E(5, 9) F: YE AB 3R AC ¥ wea-fig
3R RO, -9 2 fg &, @ @Q + PR) FFES £, @ sy BC # T ¥R ?

ks (a) 8
(a) 12 ® 10
g ¥ () 12
Ik @ 14
(d 6

58. af: firg (0, k) & 1@ 3% 4y — 5 = 0 | T T

54, aR Y@ x+2-0 y+2=0 M GmmugEpBBRT IR
kx+y+2=0ﬂaﬁﬁgq$[qm(-1;—'l)%a
A kW R 2 (@7 8
U (b, /B
oy e LD
e 1 DKy N
dy 2 %§®

§Z§ 59, 3 Y@l ¥ d= w1 st o T R, A

55.Wy2=xﬁ,aﬁ&@|ﬁm3ﬂ-{x_am o 2 - V3 32+ V3 §?

ﬁaﬂteaﬁw%@ﬂmﬁmﬁw%? (a) 105°

(a) sin0.sec’0 (b) 120°

(b) cosB. cosec’ » (c) 1356°

(¢) cot®.sec’d (d) 150
(d) 2tan® . cosecZ 0
60. af 3X-4y—5=03ﬂ1 31—4y+15=0ﬁ’-;'¥ﬁ

. it &l 3 * F et
M.ﬁ?ﬂﬂﬁﬁﬁ%m,ﬁg(a,b),(c,d)aﬂt b il e o g

A i & SEwe 18 ?
(a—c, b—d) G &2
(a) 43§18
(a) ab=cd e
b) 9
) ac=hd (b) T
(¢ ad=be (© 163 3
(d) abe=d (@ 2541 T
KJU-S-TMS (18-A)
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53. Let P(;:, y) be any point on the ellipse | 57.
25x° + 16y% = 400. If Q(0, 3) and R(0, — 3) are
two points, then what is (PQ + PR) equal to ?

(a) 12
(b) 10
(0 8
d 6

54. If the circumcentre of the triangle formed by
thelinesx+2=0,y+2=0andkx+y+2=0 58.
is (=1, -1), then what is the value of k ?

(a) -1
(b) -2
() 1
d) 2
N

55. In the parabola, y2 = x, what is %;\length of ot
the chord passing through vertex and
inclined to the x-axis at an ed?

(a) sin®6.sec?0 @
(b)  cos 6. cosec?p
() cot®.sec?0
(d) 2tan 6. cosec?9
60.
56. Under which condition, are the points (a, b),
(c,d) and (a — ¢, b — d) collinear ?
(a) ab=cd
(b) ac=hd
() ad=he
(d) abc=d
KJU-S-TMS (19-A)

Let ABC be a triangle. If D(2, 5) and E(5, 9)
are the mid-points of the sides AB and AC
respectively, then what is the length of the .
side BC ?

(a) 8

(b) 10
() lé
d 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x — 4y -5=0is (3, 1),

then what is the value of k ?
(a) 3

(b) (4

(S N6

d 6

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + v3 ?

(a) 105°
(b)
(e)

(d)

120°
135°
150°

If 83x—~4y-5=0 and 3Xx -4y +15=0 are
the equations of a pair of opposite sides of a
square, then what is the area of the square ?

(a) 4 square units

(b) 9 square units
() 16 square units
(d) 25 square units
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61. o5 e ¥ o 6 o w g e 66 mmwaﬂww%sﬁ.»mmw
¥ AL <2, D g ? ot St wHAA m:@ssqﬁﬁ(w@)m%aﬂtxyﬁa%

ex-3y+2z-4=oa?tma‘imt? T 8 ?
() 1558 (@ x+y=5
b) 2% &) .
() 33$T§ &)y z=0
@ 4 (d x+y+z=5
x-0 y-0_z-0 |66 af A, sy 8 A (g wew @ S
. ﬁ;@, 3, 4) % '_1_"0—'*_0_ﬁ umx-am%:msooﬂaﬁmm%,?h
R ? A Fpad T 22
(a) 6FH1S 3
(b) 5T &) 3;”
() 3T 502
(b) y3i-)
@ 27 2
QO 18]
63. a&ﬁa@ﬂ‘@%ﬁqmgq&? (© .
<a+b, b+e, c+a~@~ Wﬁﬁ@wﬁ
%aﬁmvﬁmﬂ&? o i-483
N 2

(a) (a+.'ra+c}2
(b) 2(a+b+e o B (mﬁq) ﬁ@m
s fig t s OA | =128, T oG} | R
@ 1 OA x.378 3N y-318 % EIY HW: 45° 3 60°
=1 v T 2, @ OA forah s # 2

4. Wﬂ(smimm)aﬁﬁhﬁmﬁaﬁ @ ‘81 +812Ak

IqEel i fnfm w8 2

@ 2 B 65 +642 ] + 6k

bl © 6425 +6) t 6k

(e) © 8

(d 16 d 8+v2i +3j 6k
KJU-S-TMS (20-A)
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61.

62.

KJU-S-TMS

What is the length of the diameter of the
sphere whose centre is at (1, - 2, 3) and which
touches the plane 6x — Iy +2z2-4=07?

(a) 1 unit

(b) 2 units

(¢) 3 units

(d) 4 units
What is the perpendicular distance
from the point (2, 3, 4) to the line
x—0=y-0=z—09

1 0 0

(a) 6 units

(b) 5 units
(¢c) 8 units

(d) 2 units

‘\\Q®
If a line has direction ratios @
<a+b, b+e, c+a>,thenw‘@isthe_sumof
the squares of its directio ines ?

(@ (a+b+c)? @

(b) 2(a+b+c)
(¢} ' 3

@ 1

Into how many compartments do the
coordinate planes divide the space ?

(a) 2
(b) 4
(e) 8
(d 18

67.

(21-A)

What is the equation of the plane which cuts
an intercept 5 units on the z-axis and is
parallel to xy-plane ?

(@) x+y=5
(b) z=5

() z=0

d x+y+z=5

If 2 is a unit vector in the xy-plane making an
angle 30° with the positive x-axis, then what
is a equal to ?

A A
J§i+j

(a)

(b)

(c)

(d)

i-v3 ]
2

Let A be a point in space such that
| OA | = 12, where O is the origin. If OA is
inclined at angles 45° and 0° with x-axis and
y-axis respectively, then what is 6:& equal
to ?

(@ 6i+6]+3h

® 6i +6v2} + 6k
© 6v2i+6]+el

@ 321 +3]+ 6k
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68. @ma@ﬁﬁaﬁﬂ(m)gmﬁm. @qﬁiﬁrﬁwuﬂmseciﬁiz{ﬁaata%t
o} 4} +5k o § 2§ -3k ¥ W wh R F R TR ?
ﬁmﬁﬁﬁaﬁﬂwaﬁaﬁﬁﬁ%aﬁm

(a) 44 cm/sec
(ﬁ:g)gmwaﬂqftqmw%?

(b) 84 cm/sec
(a) 21

(¢) 88 cm/sec
(b) 25

(d) 154 cm/sec
(¢) 31

im x*-1 lim x3 — k3

oo M ATER P (9.8 1 = e R k0%, @k TAFNE?

|2 | =4 8@ |5 | foreeh sTa ® 2 a2
3

(a) 3
(b) %
(b) 4 R
(¢) 6 % 3
@ 8 ® (d 4

Q B

0. \ 213

7 ﬂfﬂﬁﬂﬂ Sy L Q§\ e ) |7a, s whEw k?:j[ﬂ[%”uﬂa
a=2i-3j+k,{6§x+2j-3ka“n RO ".%m

A A ura (3T SHHST:
-3=J+pkm33%%‘,a’tpwmw%? ( w o) g
@ (a) 131
(a) 1
(b 2R3
b -1
(e) 2 3 4
(c) b
@ 134
(d -5
Km 2,.3_3 5 lim sinxlog(l—x)ﬁma;m%,,
71. XXX -9 fpae WU R ? e ?
x—1 x—1
(a) -1
(a) 1
b I
b) 2
{c) ~—e
(e) 3
1
@ 6 @ ==
KJU-S-TMS (22-A)

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

68, Two adJacent mdes of a parallelogmm are | 72,
21—4_} +5k and 1—2_] —-3k What is the
magnitude of dot product of vectors which
represent its diagonals ?

{m) 3
(b) 25
() 31
(d) 36
- - = = 5 L

69. If |axb |’+|a.b |2=144 and
| : | =4, then what is | ? | equal to ?
(a) 8
(b) 4
) 6
d 8 ®

70. If the vectors a. -21—31+k§\\ 74
-l;’=1+23—3kandc= pkare
coplanar, then what is th& eofp?

(a) 1 @
(b) -1
() 6
d -5
] lim x+x2+x3_3

71. Whatis Eond Y equal to ? 75.
(@) 1
(b) 2
€} -3
d 6

KJU-S-TMS (23-A)

The radius of a circle is increasing at the rate
of 0-7 em/sec. What is the rate of increase of its
circumference ?

(a) 44 cm/sec
(b) 84 cm/sec
() 88cm/sec
(d) 154 cm/sec
lim x*-1 lim "\, x3 — k3

H x—1 b e | -

k # 0, then what is the Value of k ?
(a)

————, where
Xok 2 _p2°

(b)

(e

B owl® ol ol

(d)

The order and degree of the differential

2
23
equation k-g—i = I[l-!—[%)] dx are

respectively

(a) 1land1
(b) 2and3
(c) 2and4
(d 1land4

.. lim sinxlog(1-x) 2
What is X'-'-)O___-x_z__-_ equal to ?
(a) -1
(b) Zero
() -e
@ =i

e
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76. 2T&ﬂx]l=31:2--51(-|-p»':\’ﬂ? f10) 3 f1) fada

77.

78.

KJU-S-TMS

)

e ¥ &, A Pafafes § 3 PRE EA R 2

(a) -2<p<0

b)) -2<p<2

(¢) 0O<p<2

(d 3<p<b

ﬂﬁew=c+49@,3ﬁcwﬁﬁw%aﬂt
m,em@w%,eﬁ@amm%?

(a) ©do

-0dg
N
S
>
S
N}
IR px) = (422, M I plx) dx foresh s

(¢) 40do

(d) -408do

&

_® .

@ T om2

p(x)
) 2(1+2£n2)+c

2p(x) o

X Tt

px)

@) 1+In2

+C

81.

(24-A)

ni4
I (tan® x + tan x) dx H AN FTE?

0

) §
(a) 3

1
(b) 3
1 P ¢
(dy 2

am el R y=32+2 B | I x, 10/
e Bt 10-1 8 T B, A y H A A
TR ?

(a) 471

(b) 523
(c) 603

(@ 801

af2 fix) = Si‘;x,aﬁxen,ﬁ x = 0 W gad

2T 2, A x = 0 T HeH H HH

0 T =Ry
1 B =1fet
(e) 2'@“?‘%@;

(a)

(b)

@) Tuifa & e s whar
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el S

76. If fix) = 3x% - 6x + p and f0) and f(1) are
opposite in sign, then which of the following is | 79.
correct ?

(a) -2<p<0
b)) -2<p<2
@ Decp<?
(d 3<p<b

77. If e% =c + 40p, where ¢ is an arbitrary
constant and ¢ is a function of 6, then what is
¢ db equal to ?

80‘
(a) Odo
(b) -6de
(©) 40do \\@
(d) -46de¢ &é
NG
Q
>
78. If p(x) = (4¢)2%, then &m is J. p(Bdx equal
to?
p(x)
(a) —1+2zn2+c 81.
p(x)
®) 2(1+2Zn2)+c
2p(x)
i 1+In4 i
p(x)
| G . L
W 1+in2
KJU-S-TMS (25-A)

/4

What is the value of (tan® x + tan x) dx ?
0
1
(a) Z
1
b o
‘( ) 2
(e 1
d 2

Let y'=3x% +2. If x changes from 10 to 10-1,
thed whabis the total changeiny ?

ta) 471
(b) 5-23
(c) 603
(d) 801
If filx)= sinx, where xeR, istobe

continuous at x = 0, then the value of the
functionatx =0

(a) should be 0
(b) should be 1
(c) should be 2

(d) cannot be determined
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82, Iawel GBI dy = (1 + y2) dx 1 & 2 85. @ y2 = 2x IR WA W@ y = x F A wieg &

= B T8 ?
(a) y=tanx+c¢
(b) y=tan(x+c) (a) %
(¢ tanl(y+c)=x B 1
(d tanl(y+c¢)=2x 2
(c) =
' 3
d 2

83. I(e]°g"+sinx} cos x dx Tohae® U B ?
86. IR fix) = 2x = x2 &, @ fix + 2) + fix - 2) F

sin? x W,W|&ﬁﬁmx=oﬁr,wm?
(a) sinx+xcosx+ +c
(a) -8
2
(b) sinx—xcosx+smx+c§® ® -4
| e BEROG
. 2.2 ¢
(c) xsinxl+wsx+@+c
§ (d 4
N
(d) xsinx-—xcosx+smx+c
87. aﬁxmynﬂmmgr,a’r%ﬁmasm%?
y : my
84. Wﬁx)=ms‘1(x—2)ﬂﬁﬁ?(m)ﬂm%? (a) e
nx
(b) [1,3]
(c) L
(¢) [0,5] ny
-2, 1
d [-2,1] & oy
mx
KJU-S-TMS (26 -A)
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82. The solution of the differential equation (85. What is the area of the region enclosed

dy =(1+y® dxis between the curve y?=2x and the straight
liney=x?

(a) y=tanx+c

s 1
(b) y=tan(x+c) - (a) 2
(€ tanl(y+e)=x (b) 1
(d) tan!(y+¢)=2x (¢) %

d- 2

83. Whatis J.(el"g"-rsinx)cosxdx equal to ?

e 86. If fix) £ 2x = x2 then what is the value of
- smx+xcosxf- s ﬂlﬁ;+2)+ﬁx—2)whenx=0?
s (a) -8
(b) sinx-xcosx+ o> X L.
2 g\@@ ®) -4
(© xsinx+cosx+ = 3P © 8
2\66.
$Q d 4
2 ¢
(d) _xe;inx:-xmm:%'m-lt +C

87. If x™y" = a™n thon what is % oqual to ?
X

84. What is the domsifi of the function

flx)=cos (x-2)2 (@) PI:;Y
nx
(b) [1,3]
: mx
© 10,5 Lk =
mx
KJU-S-TMS (27-A)
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KJU-S-TMS

dx

x(x"+1

oo T 2 ?

. |

(a)

(b)

(e)

(d)

|x - 1| % <78 A 1 8, T& xe RR?
(a) O

) N

e 1L
() 2

(d)

91-

92.

(28-A)

fo) = e x| % forg, Fafafes werii w0 fomm
i

1. x=09% %eH §aa 2 |

2. x=0W HeH JaHHE 2 |

I HEAl § & BEA/A TE /R ?

Fad 1

Fad 2

1 3 23

(@ Fa@ 1L,IF2

(a)
(b)

(c)

sin x © cos X I aali:asanmw%?

(a) 2
(B 1
1
(e) -2"
@ 2vJ2

& -X
im 8%+37 -2 oo R ?
x—0 b 4

(a) O

[{)

() 1

dm w1 afee @ 2 (Fw femm
T 2)

(d)
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KJU-S-TMS

(b)

n
(c) o= +c
x® +1

(d)

What is the minimum value of |x - 1|, where
xeR?

@ o \\Q®
>
® 1 ‘2;\
»
() ~ 2 Q&Q
@ -1 N

What is the value of k siich that integration of
3x? +8 -4k

. with respect to x, may be a
rational function ?
k- @
(b) 1
e '2
d -2

91.

(29-A)

Consider the statements for

fix)=e 1%l .

following

1. The function is continuous at x = 0:

2. The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only
(b) 2 only

(¢) Both1and 2

(d) Neither 1 nor 2

What is the maximum value of sinx.cosx ?

(a) 2
b)) 1
1
(c) E
@ 2v2
.. HEm 8%+8%*_9
What is s T equal to ?
(a 0
(b) -1
fey. I
(d) Limit does not exist
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94, cot-lx % Taw # (F UNF) tanlx H
FHE TR’ ?

@ -1
{b) '=k
1
w x2+1
>
d
o x2 +1

95, e ulx,y)=c, A FAHE FHH

% (dx — dy) + y (dy — dx) = 0 Y HFT F &,

HHAATR ?
(a) x2+y2=xy+c

&
b) x2+y’=2xy+c %’

Q
€ x*-y?=xy+c Q\@g
N

‘(d) xz—y2=2xy+c

96. 3 cos [A+§] %1 Fad WH ¥ 8, 98l Ae R

??

(a) -3
b -1
() O

d 3

KJU-S-TMS
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97.

98.

Prfefiga wua W fomm Fifs
1. B fix) = In x FATA (0, ) F T R |

2. mmﬂ::nm:m’aw[-%,g]ﬁ
ECCich 3

I HE § & BA-A/E 76 A 2

(a) Fa 1

(b) Had 2

(© 13K 23R

(d FT@ LA

y A llﬁm%éﬁuﬁ,ﬁnﬁrﬁaﬂﬁﬁ
"R |

1991 TH HE 8 ?

) O (x e R|x # 1) ¥ 3R ww (&)
TRt Ges & ageed 2 |

(b) WA xeR|x# ¥, TWH [yeR|y#012
3 T y-31& H (0, - 1) W wfa=d Fa
21

(© SiA arafys dEEel W eg=d g i
wE T g (0} R |

@ WA (x eR|x # 1) & 3 W y-318 W
forgail @1 w= 2 |

aammﬁmzn[%i] —x I EA TR ?
X

(a) y=e*+c
(b) y=er+c
() y:ln1;+c

(d y=2Inx+c
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94. What is the derivative of tan™! x with respect 7.
to cot1x?
(a) -1
) VR |
1
(c)
x2 4 1
() =
x? +1
95. The function u(x, y) = ¢ which satisfies the |98
differential equation
x(dx-dy)+y(dy-dx) =0, is
(@ x*+y?=xy+c S\\Q
| ' S
b x*+y?=2xy+c Q(b'
| Q
© x*-y2=xy+e @
d x*-y?=2xy+c
96. What is the minimum value of 3 cos [A+-;E]
99:
where Ae R?
(a) -3
(b)) -1
© 0
d 3
KJU-S-TMS (31-A)

Consider the following statements :

) The function fix) = In x increasés in the
interval (0, ).

2.  The function fix) = tan x increases in the
interval [— g g J

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

Which one of the following is correct in respect
1
?

of the graph of y =
x-1

(@) The domain is {xe R |x # 1} and the
range is the set of reals.

(b)  The domain is {x € R|x # 1), the range is
{y € R|y # 0] and the graph intersects
y-axis at (0, =1).

(¢) The domain is the set of reals and the
range is the singleton set {0).

(d) The domain is {x e R|x # 1} and the
range is the set of points on the y-axis. -

What is the solution of the differential
equation /n [g) =x7?

(a) y=e*+c¢
b)) y=e*+e
) y=lnx+c

d y=2nx+c

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

100. 7 wifsw 6 ws 3ma 6 warg 1 3 e b

101.

WIS EF 1+ b=k | 3m3a = fran

STHe TR 2
(a) 2k?

b) k2

Al 4 3 9 H IHERand FHHI: x AN
(x-1)§|uﬁmmmsﬂ,?ﬁxw
AT 8 ?

(a)
(b)

(c)

D e W N

(d)

- 102. 3fg 9= gl B 3@ I, WgesHn a6

I @ ol oft S aEh o EHE e S T8
AN, d 3@ WA wn ke @ R oww
HeTh W HEHT 6 It 2

(a) %
(b) g
(c) -lé
@ %
KJU-S-TMS

103‘

104.

(32-A)

R P(AUB)=%, P(AnB)=% 3

HnotA)=%ﬁ,a}ﬁmﬁ1ﬁaﬁﬁaﬂquﬁ
Cr i

2
(a) P(B) = E

(b) P(A N B)=PAPB)

(c) P(AUB)>PA)+PB)

(d) P(not A 3 not B) ="P(not A) P(not B)

n S&oi ¥ 2.5 ® WY U fyEeE] %1 IR 50
R\ Jeu% Ih ag=w F 35 ¥ AW MU
foraeH = TMFe —508 | nHIAF FTR ?

(a) 50

(b) 60
(c) 80

(d) 100

. n Ye0it % uH st GUE (GgS) B AT

2M 8, FEf% 2n JE@UI & TH I (W) AfHe
a6 WY M ® | WYH IAiHel AR
(T=T) o HTeT 9T R 2

(a) M

3M

2
2M

3
4M

3

(b)

(c)

(d)
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100. I.et!bethelengthandbbethebreadthofa
rectangle such that /+b=k. What is the
maximum area of the rectangle ?

(a) 2k2
(b) k2
K2
(c) —2"
K2
(d) =

101. The numbers 4 and 9 have frequencies x and
(x - 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(a) 2
(b) 3 @
S
(e 4 @‘
@ 5 Q\QQ}
S

102. If three dice are rolled underthe condition
that no two dice show the same face, then
what is the probability that one of the faces is
having the number 6 ?

5
(a) '6—
5
(b) ry
1
(e) E
5
(d) T
KJU-S-TMS (33-A)

104.

106.

108. If P(AUB):%, P(AnB}=% =2k

P(not A) = % , then which one of the following

is not correct ?
2

B)==

(a) P(B) 3

(b) P(AN B)=PAPB)
© PAUB)>PA)+PE)

(d) P(not A and ndt B) ="P(not A) P(not B)

The sum "of 'deviations of n number of
observations, measured from 2-5 is 50. The
sum of, deviations of the same set of
observations measured from 35 is - 50. What
is‘the value of n ?

(a) 50

(b) 60

(© 80
(@ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

(a) M
3M
o S
oM
(C) _é_
@ M
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st i (03) TwAl @ fere F[Agr
Frefefan TRl & ulee sk st diT T #

Wﬁm:
i forenféfat it s
sitfoes fasme wifora
10 - 20 8 10
20 — 30 11 21
30 - 40 30 38
40 - 50 26 15
50 — 60 15 10
60 — 70 10 6
106. Hifis fmm it Thw § el fi den %
g 1 3t fea aue § Afuwan 8 ?
(a) 20-30
(b) - 30-40
(¢) 40-50
(d 50-60 ®
w-:.ﬁqwquﬁamﬁfg\\
1. ofes fsm # am FEEH M,
A 30 - 40§
2. nﬁﬁasﬁm@raﬁaﬁmfam(wﬂ%m),
wifora o sieRi @t TSI Y 9 R |
I® FoEl A ¥ RAEAFE 28 ?
(a) Had 1
(b) e 2
(e) 137 2 2t
(@ 1,782
108. it frgm § it =1 e fopae 2 2
(a) 384
(b) 394
(¢) 409
(d) 416
KJU-S-TMS

lwl

110.

111.

(34-A)

vt -6, -5, —J4, -1,1, V4, V5, /6
1 A foae T 8 ?

(a) J2
b 2

© 2v2

d 4

ofe freft Y@= x & fog
Ex,-_:_zo.zx? =200 3 n = 10 &, @ fa=w

TR &1 8 ?

(a)y” 80

(b) 100

(¢) 150

@ 200

7@ =@ $ w2 iwa @ R agssa 91
@aﬁaﬁ(ﬁﬁqaﬁ)%mﬂﬁqﬁtﬁw

B ?

1
(a) g

1
(b) 7

2
(e) ?
d 1
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Directions for the following three (03) items :

Read the following information and answer the 109. What is the standard deviation of the

three items that follow : observations
Number of students -v6, -5, -4, -1, 1, Vi, V5, V6 ?
Marks ” C
Physics Mathematics &y g
10 - 20 8 10 @
30 -40 30 38
40 - 50 26 15 © 2V2
>0 - 60 = L @ 4
60 - 70 10 6

106. The difference between number of students
under Physics and Mathematics is largest for 110. If Yx; = 20,5x% = 200 and n = 10 for an
- —-— » ] — —

the interval

observed variable x, then what is the
(a) 20-30 :

coefficient of variation ?
(b) 30-40
(c) 40-50 (a) *80
(d 50-60 Q () 100

\\Q
107. Consider the following statem () 150

1.  Modal value of the m@ in Phy#ics lies
in the interval 30 —@

2.  Median of the &ks in Physics is less
than that of marks in Mathématics.

Which of the above statements-is/are correct ? |111. What is the probability that February of a

(d 200

(a) 1lonly leap year selected at random, will have five
(b) 2only Sundays ?
(¢) Both1and?2 | 1
(d) Neither 1 nor 2 : (a) B
108. What is the mean of marks in Physics ? ‘b) %
(a) 384
(b) 394 © %
(e) 409
@ 416 d 1
KJU-S-TMS (35-A)
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112. 100 J&il =1 GHIGT WIET 40 B | WG H, T8 TR

113.

114.

KJU-S-TMS

T R T JEw 53 W et § 89 gg form
T AT | WE EHIGT AT w1 R ?

(a) 398

(b) 397

() 396

@ 396

w @ gz 6 3 it % forg o afa siv oeht
s T ¥ fore 9 wU | uf & W 9@
# wima L % howh @ IR R
s % 2| AR A gl @ E A
ﬁnﬁrﬁﬂaﬁﬂﬁmﬁmﬁm%%?
(a) 399 ¥ H9-8-%9 et uH * A Smem
(b) I8 ¥ Fae TH B A SR
© T3 fa B oft TS

Q
(@ :ﬁ#ﬁ?ﬁggg@

s o % um 15T el (Rewl) w1
g & R A6 awiv(ER) ¥ | = =fE
15 T@v gEral § 84 Jgeed gAa @ |
wiftrar & 6 o3 T wft foes weft & 2

1

(a) ﬁ

4
(b) a1

6
(e) ﬁ

15
(d) o1

(36-A)

115. 3 (2) wTe 3R A (2) AR F w6 wE A

¥ 3 & v giufe 94 9 R | 39 9@ R R
wiferrar & f6 3o afufa & 2w ok 1 wiferst
&2 '

(a)

ool

(b)

e |-

(c)

N

(d)

b=

116. 13 10 7% TEHifhd 1oﬁa:€iaﬁqaaaizﬂﬁ%

= Ty 2 e e 9 & | w0 wlka R
i frma U AT el W ST WA # 2
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115. A committee of 3 is to be formed from a group

112. The arithmetic mean of 100 observations is 40.
Later, it was found that an observation ‘53’
was wrongly read as ‘83’. What is the correct
arithmetic mean ?

(a) 398
(b) 397
(¢) 396
(d 395

113. A husband and wife appear in an intervew for
two vacancies for the same post. The
probability of the husband’s selection is % and
that of the wife’s selection is % If the events
are independent, then the probability of which
one of the following is % ? ‘

(a) At least one of them will be %&md
: Xf\
(b)  Only one of them will be@ d
(¢)  None of them will
(d) Both of them wi]@aelect.ed i
S

114. A dealer has a stock wf 15 gold coins out of
which 6 are counterfeits A person randomly
picks 4 of the 15 gold coins. What is the
probability that all the coins picked will be
counterfeits ?

1
(a) ﬁ
4
(b) 91
6
(c) gi*
15
(d) o1
KJU-S-TMS (37-A)

of 2 boys and 2 girls. What is the probability
that the committee consists of 2 boys and

1girl ?

(a) g
(b) %
(©) %
@ %

In a lottery of 10 tickets numbered 1 to 10, two
tickets are drawn simultaneously. What is the
probability that both the tickets drawn have

prime numbers ?

(a)

1
(b) Y
(c)

1
&7 =
(d) 5
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117. 7 ohfvre 6 X 3t ¥ o Fiere AT 19 ofz A ok B3 wed 3@ www & 6 PA) = 06,
i feh oeg i dwEl (T H) B @R W P(B) = 0-5 3K P(A N B) = 0-4 B, 7t Fr=ferfiaa
fom gen @ B X = 65, Y = 67, ox = 25, wyai w fomm i
oy = 35 M X, V=088 | XN Y®

WW(W)WWW%? 1. P(AUB)=09.
2. P(B|A)=06.
(@) Y=0175X-5 méﬁwﬁﬁ%aﬁamwi/%?
b)) Y=112X-58 (a) %ad 1
(b) HaA 2
¢ Y=112X-5 i I,
(d Y=017X+58 Nk T2

lls-wv@%ﬁmXWﬁW@@m 120. 9 @t X, Y 3 2 T RN SR F F
n=1oaﬂzp=%€sw@' 1 ST S £, T ¥ B I THER A T T (FEHA

FETR |99 Y =10- n-3.p % Y mﬁ)ﬁmﬁmﬁm:o-oz,o-osxﬂto-os
fouz w2 1 STERHE R E F o 3 § | o Y & A ww ) § T B 50% B
F wE FA: X ST 2, 30% $% Y T & 3R 20% % Z
! . ST R | X ¥ HUO A ol FEEAAHA! B
1 AT TR ?
(a) B, =
: 9
" (a) -2§
(b) 5, =
i 10
o ==
3
(e 10, = Hi
5 —
(e) 79
4
& 80,3 . 28
: 5 @ e
KJU-S-TMS | (38-A)
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117. Let X and Y represent prices (in %) of a|119. If A and B are two events such that P(A) = 06,

commodity in Kolkata and Mumbai
respectively. It is given that X = 65, Y= 67,
ox = 25, oy = 3'5 and (X, Y) = 0-8. What is

the equation of regression of Y on X ?

(a) Y=0175X-5

(b) Y=112X-58

(¢ Y=112X-5

d Y=017X+58

® 120,

118. Consider a random variable Xs@ch follows
Binomial distribution With"b. meters n.= 10
and p & % Then Y = 1{\\9:( follows ‘Binomial

distribution with &:ametm o and p

respectively given by

(a) 5; é
® 5, %
- 10 g
@ 10, i;-
KJU-S-TMS (39-A)

P(B) = 0-5 and P(A N B) = 0-4, then consider

the following statements :

1. P(AUB)=049.

2. P(B|A)=0s.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Both.l and 2
(d)%, (Neithér 1 nor 2

ThreecooksX,Ya.ndeakeaspecialkindof
cake, and with respective probabilities 0-02,
0-03 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the
proportion of failures caused by X ?

9
(a) :9.'6

10
(b) 29

19
(c) -2-'5

28
(d) 29
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wa T & o sE
SPACE FOR ROUGH WORK
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w1 & fore s
SPACE FOR ROUGH WORK
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F=t wTH & fore sTg
SPACE FOR ROUGH WORK
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F= & & forg g
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C. : KJU-S-TMS Test Booklet Series

TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 12 j (quéstions). Each item is printed both in Hindi and English.

Each item comprises four re s (answers)) You will select the response which you want to mark

on the Answer Sheet. In you feél that there is more than one correct response, mark the
response which you consi e best:In any case, choose ONLY ONE response for each item.

5. You have to mark all responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Shee

6. All items carry equgdmarks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate: :

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with youthe Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTYFORWRONGANS’WERSMARKEDBYACANDIDATEINTHE
OBJECTIVE TYPE QUESTION PAPERS.
i) There are four alternatives for the answer to every question. For each question for which a wrong answer

hasahlneen given by the candidate, one-third of the marks assigned to that question will be ucted as
penalty.

(i)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(i)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
o g @ﬁmﬁmwgﬁﬂ%gﬁquw% |
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